> Instructions / Anleitung
Instructions / Instrucciones
Instructies

Thule RideAlong Lite 2
100209, 100210, 100211

nnnnnnnn

Bring your life
5561855001 thule.com



EN
FR
ES

DE
NL
PT

5\
DK
NO
Fi

ET
Lv
LT
RU
UK
PL

Rear mounted child bike seat
Sieége vélo enfant arriere

Asiento para nifos en la parte trasera de la
bicicleta

Fahrradkindersitz

Fietszitje voor achterop

Assento infantil traseiro para bicicleta
Seggiolino da bicicletta posteriore
Cykelbarnstol for bakre cykelmontering
Bagmonteret cykelstol

Bakmontert barnesykkelsete
Lastenistuin polkupyoéran taakse
Barnaseeti aftan & reiohjol

Jalgratta tagumine lasteiste

Velosipéda aizmuguréjais bérna sédeklis
Galiné vaikiska dviracio keduté

3apHee AeTckoe BenocuneHoe chaeHbe
3aaHe auTade BenocuneaHe Kpicno

Fotelik rowerowy do przewozenia dziecka
montowany z tytu

CS Zadni détska cyklosedacka
HU Kerékparos hatsd gyerekilés
RO Scaun spate de copii pentru bicicleta
SK Zadné detska cyklosedacka
SL Zadnji otroski kolesarski sedez
BG 3aaHa feTcka ceflafka 3a Benocunes
HR Djecja sjedalica za bicikl koja se postavlja straga
EL [Miow madiko kABloua odnAdtou
TR Arkaya Baglanan Cocuk Bisiklet Koltugu
MT Sedil tar-Rota ghat-Tfal li Jitpogga Wara
T unk oMok awin HE
Jalall lal Aa) 500 sie AR
ZH (CN) &R LEBTTEERE
ZH (TW) B 5178 RE R
JA HAUNEBERAF LR —k
KO = O{2I0| XFHH AE
TH indindmsudauvnadnsanu
MS Tempat Duduk Basikal Kanak-kanak Belakang

[EN 14344:2022

ASTM F1625-00

@xz

[6)mssnmn
Méx44
M6ex1.7" X4
[E) s
M6x58
M6x2.3" X4
5561855001



EN
DE
FR
NL

ES

PT

3%

DK
NO
FI

ET
Lv
LT
PL
RU

UK
BG
Ccs

SK
SL

HR
RO
HU

EL
TR
MT

Please read the following instructions carefully and keep them for future reference.

Bitte die folgenden Anleitung aufmerksam durch und bewahren Sie sie zum spateren Nachschlagen auf.
Veuillez lire attentivement les instructions suivantes et les conserver pour référence future.

Dient u zorgvuldig de volgende instructies te lezen en deze als toekomstig naslagwerk te bewaren.
Leggi le seguenti istruzioni attentamente e conservale per consultazioni future.

Lea las instrucciones siguientes atentamente y gudrdelas para consultas posteriores.

Leia cuidadosamente as instrugdes a seguir e guarde-as para referéncia futura.

Vi ber dig lsa foljande instruktioner noggrant och darefter behalla dem fér framtida bruk.

Skal du lzese felgende anvisninger grundigt igennem og gemme dem til fremtidig reference.

Bor du lese disse instruksjonene ngye. Ta vare pa dem i tilfelle du far bruk for dem senere.

Lue seuraavat ohjeet huolellisesti. Pida ohjeet tallessa.

Lestu pessar leidbeiningar vandlega adur en pu og geymdu peer til sidari nota.

kasutuselevottu lugege jargmised juhised hoolikalt 1&bi ja hoidke need alles.

|0dzu, izlasiet uzmanigi talak sniegtos noradijumus un saglabgjiet tos turpmakai izmantosanai.
atidZiai perskaitykite toliau pateiktas instrukcijas ir ju neiSmeskite, kad galétumeéte perziréti ateityje.
nalezy doktadnie przeczytad nastepujace instrukcje i zachowac je do wykorzystania w przysztosci.
BHVMATESIbHO U3Y4MTe MPEeACTaBNEHHbIE HKE MHCTRYKLWM M COXPaHUTE UX ANs AaNbHeero
MNCMNOJIb30BaHMS.

O3HaNOMTECS 3 HIPKYEHaBEAEHMY IHCTPYKLisSIMA 11 36epiraiiTe ix 49 AOBIOKM B MalByTHEOMY.

npoyeTeTe BHUMATESHO ClIeAHWUTE MHCTPYKLMM U TV 3anaseTe 3a 6baeLuy CrnpaBku.

si peclivé prectéte nasleduijici pokyny a ulozte si je, abyste se k nim mohli kdykoli vratit.

si pozorne precitajte nasledujuce pokyny a ulozte si ich, aby ste sa k nim mohli kedykolvek vratit.
skrbno preberite navodila v nadaljevanju in jih shranite.

pazljivo procitajte sljedece upute i sacuvajte ih za buducu uporabu.

cititi cu atentie urmatoarele instructiuni si pastrati-le pentru consultare ulterioara.

hasznalatbavétele elétt figyelmesen olvassa el az aldbbi tudnivalokat, és tartsa azokat késébb is hozzaférhetd

helyen
SLBAOTE TIPOTEKTIKK TIG TIXPOKATW 0dNYiES Kot GUAKETE TIG yiot LEANOVTIKE) VX pOp K.
kullanmadan 6nce asagidaki talimatlari dikkatle okuyun ve gelecekte basvurmak amaciyla saklayin
jekk joghgbok agra l-istruzzjonijiet li gejjin bir-reqga u zommhom ghal referenza futura
N NIRND TVINA (1YY [V YmMwl AR 707 NIRAINND DX K7

LJaiaal) 8 Ll & sa U Ly Jaldia¥) 5 Aliay 40D laleill 3¢) 3 a0 AR

ZH (CN) B4R TR, HREZIGBUHEBESE,
ZH (TW) GEsFRILAUTEREA, X ERE UERKSEEA,

JA
KO
TH
Ms

JH)EH 1L 2B AT OFIBEREBEFEF TERAVCLE T SBOBRBTISLIICREL TV
AFESEY| Mol ChS X Ee & H LHsof| Hng ~ e S Eas] =4 IQ.
TdsaaruduuzinsalilfiadivazdaauasAulivialddavdeluauiaa
sila baca arahan berikut dengan teliti dan simpan arahan ini untuk rujukan masa hadapan.

AN

Instructions | | Safety

5561855001



Your Key-Number

Rl )
il 4

é»ﬁ} 9-72M | 972 M
{Cn} fi | 922k | 2040005 X C%S

Max {f} 110 cm 43.3 inch 0-9M

>

*
m
Cc

*
[l

A

Check your bike : A2 Ilp

Circular Oval Triangular Square

Z
Vo @ @ | Xom A

@ 28-40 mm Max 40 mm
@1,0-1,57" Max 1,57"

4 5561855001



5555555555



5555555555



.

5561855001



8 5561855001



3 @ 28-40 mm 40x55 mm
@ 110-1.57 inch 1.57-216 inch

©) mnmy
Mox44 M6ex58
M6x1.7 inch M6x2.3 inch

5555555555



5555555555



5555555555



5555555555






5555555555



5555555555



EN Accessories ET Tarvikud HR Dodatna oprema
FR Accessoires Lv Piederumi EL Ageooudp
ES Accesorios LT Priedai TR Aksesuarlar
DE Zubehor RU Akceccyapsbl MT Accessorji
NL Accessoires UK Akcecyapn onrax  HE
PT Acessorios PL Akcesoria ciald AR
IT Accessori Ccs Prislusenstvi ZH (CN) FfiF
sV Tilloehor HU Kiegésziték ZH (rw) Bt
DK Tilbehor RO Accesorii JA ToEHU—
NO Tilbehgr SK Prislusenstvo KO A2
FI Lisavarusteet sL Dodatna oprema TH aunsalidsu
IS Aukabunadur BG Akcecoapn MS Aksesori
Thule One-Key System

450400 gy (x4)
450600 %Wp (x6)
450800 %Wy (x8)
451200 %G (x12)

Thule Yepp Harness Clip

12020920

Thule Quick Release Bracket
100203

Thule Sweden AB, Borggatan 5
335 73 Hillerstorp, SWEDEN

» PART OF THULE GROUP

Thule Delight
20201516

E info@thule.com

© Thule Group 2022 All rights reserved.

m www.thule.com

5561855001



